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. EvaIuate(b3 — c3)(b3 + b3c3 +c3 )=

(i) (b—C)2 (i) O (iii) b+ c (iv) (b+C)2 (v) b-—c

. Find the6throotof729

(i) 3 (i) 4 (i) 1 (iv) 5 (v) 2

v16 —v64
. Simplify ————— =
V144 +v49

(i) (i) (i) (ﬁ) (iii) (ﬁ) (iv) (ﬁ) (v) (i)
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3 3.

V64 +v216

. Simplify 3 3 <
V729 —-v8

(')1—2(")1—0("')2(')§()1—0
o ) (il ) o) g

. Simplify the expression6° x 6% x 6°

i) 618 i) 612 (i) 318 (iv) 818 (v) 617

. 9x8.7x9.4x2.8x3 =

5

(i) 19x°%% (iiy 24210

(iii) 2016 x22

1 1 1 1
. EvaIuate(aZ + b2 )(a2 - b2)=
(i) (a—h) (ii) (a+b)2 (iii) 1 (iv) 0 (v) (a+b)

-3 -2
. Thevalueof(;) —(-_21)

(i) 22 (ii) 26 (iii) 21 (iv) 23 (v) 232

(iv) 504x210 (v) 2ax!
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Which of the following statements are true?

a (™) = ()"
b) a.x ' = am xMm

) (Xm) _ X(m+n)

(i) {c,d} (i) {b,d,a} (iii) {ef,a} (iv) {a,d} (v) {b,a}
J
d2
(' 7) =
e
7j 2j
e , , , d
. 2j _ o 2 15 .
(i) dzj (i) d™. e (iii) d™7.e (iv) 67/.
3 3
-1
The value of( ) X( 3 )
2

Expand the following base power2'5

(i) : (i) -1 (iii) '1 (iv) '1 (v) !
Voge M MW e WY 3 Y 100a

. -125
Find the cube rootof( - >7

)
M (2) G -1 Gy -5 (v ()
| 3 I - 1 - 1\ 3

52x(-3)2x23x(-2)"3
Simplify
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Find the reciprocal of ( 2 )

9 10 8 9 9
2. -4 ; 4
M (5) @ (5) G (g5) v (5) @ (3)
Simplify the expression (-7)73 x (-7)73 x (-7)™3
M 2 i) 02 G6in (N (v 972 v nto
20 4
n
( 5) =
n
M) 4n%> Gy 7%9 Giy a0t v) 2100 () A%
if 7373343278 fing
() 3 (i) 1 (i) 4 (iv) 2 (v) O
m I’ /
£k ¢! ¢
Simplify -
() Ca) ()
M -1 Gi) o (i) £XFHEM Gy 1 ) ¢
Expand the following base power(-5)'2
M) = () (=) (i) & ) = ) ()
Voea MV N5’ Mo W os VRS
if al7V*2) 2 642VF0) fing y
() 17 (i) 15 (i) 16 (iv) 18 (v) 14
The value 0f5_3 —4'3
2
() (o) (i) ( O3 ) i) (S22 (i) (s ()
8000 8000 8000 7998
0
(F+9°) -

() (1) Gi) 1 (i) 0 (v) 2+ g% (v) 3
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(-3)° X4 %x(-4)
24. Simplify
33><32x(-2)3><52
1x2° (-1)2x2° 1x23 1x23 1x24
(i) (i) - (iii) (iv) (v)
33x52 33x52 33x72 0x52 33x52
9 9

25. Simplify the expression(-6)~ X (-6)

17

M 6)12 i) 6)18 (i -6)17 (iv) (418 (v) (-8)18



Assignment Key

1) (v) 2) (i) 3) (v) 4) (ii) 5) (i) 6) (iii)
7) (i) 8) (iv) 9) (iv) 10) (iv) 11) (ii) 12) (iv)
13) (i) 14) (iii) 15) (iv) 16) (ii) 17) (v) 18) (iv)
19) (iv) 20) (iv) 21) (iii) 22) (iii) 23) (ii) 24) (i)
25) (i)
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